www.iiste.org

Impact of Online Marketing Practices on E- Business Models in India: Choice as a Determinant

Neeraj Mathur Assistant Professor, Department of Computer Science Lachoo Memorial College of Science & Technology, Jodhpur

Dr Archi Mathur Associate Professor, Faculty of Management Studies, National Law University, Jodhpur

Abstract

Till today, Web portal Model is popular e- business model which is selling a wide range of products, with both depth and breadth of range. However, over recent years, consumers have become more discerning due to changing lifestyles, spending priorities and shopping patterns (Fisher, 1998). The focus of this research paper is to draw attention of marketers and shoppers towards the need to develop a hypothetical model named Global Super Store Model, is to change the consumer towards provision of providing a wide range of products with price comparison facility on a single portal along with a huge range of brand name suppliers. This research paper is also an attempt to find out the impact of online marketing practices on both existing Web Portal Model and our Global Super Store Model for choice as a determinant.

Keywords: Choice, Global super store, Online Shopping, Web portal model, Online marketing practices, India.

Introduction

In this research paper we examined the existing e-business model (Web portal model) and understand how it works and also try to find creative ways to improve it thus maximizing its power and proposing a new **hypothetical model** named **Global Super Store**.

Till date, existing Web portal Model is selling a wide range of products, with both depth and breadth of range. However, over recent years, consumers have become more discerning due to changing lifestyles, spending priorities and shopping patterns (Fisher, 1998). The focus of Hypothetical Global Super Store Model is to change the consumer towards provision of providing a wide range of products on a single portal along with a huge range of brand name suppliers. It will also try to provide a 'total solution' to customers. The basic aim of Global Super Store Model is to simplify the shopping process for customers.

Every day, millions of people go online to do research about products and make purchases from thousands of different online merchants. The web allows us to do comparison and shop for the best deals and locate products that might otherwise be difficult to find. Existing Web portal Model is selling a wide range of products, with both depth and breadth of range.

Hypothesis

It is hypothesized that the impact of online marketing practices will be more on Global Super Store model in comparison to Web Portal Model.

Research Methodology

Data collection: The data was collected through self constructive questionnaire which was administered on the selected sample by e-mails, or by posting a link on website and social networks.

Sample size: An online survey was conducted from 400 Respondents for our research. Out of them, 200 were male and 200 were female. Out of this 376 were complete valid responses. The age group of respondents was 18 and above. The respondents included students, housewives, retired people, professionals including teachers, software engineers, chartered accountants etc.

Tool / Technique used for Data analysis

A comparative analysis of the impact of various factors of online marketing on the determinants of Web Portal Model and Global Super Store Model was done.

ANNOVA test was applied to know the impact of the various factors of online marketing on Choice as a determinant of Web Portal Model and Global Super Store model.

Further, the impact of online marketing was subdivided into 9 factors that broadly characterize the online marketing practices, which, as per the questionnaire are as follows:

Factor 1: Trend of online advertising

Factor 2: Online targeted people

Factor 3 : Consumer buying behaviors

Factor 4 : The buying patterns of men and women

Factor 5 : Attitudes

Factor 6 : A prior experience

Factor 7 : Security

Factor 8 : Brand metrics

Factor 9 : Search for a product online

Thus, each of the factors of online marketing was studied in relation to its impact on the Choice as a determinant of Web Portal Model and Global Super Store Model separately.

ANNOVA test was applied to know the impact of various online marketing practices on choice as a factor of Web Portal Model.

H1: It was hypothesized that online advertising practices has no significant impact on choice in Web Portal Model.

			ble 1 A (1.1.W)			
		Sum of Squares	Df	Mean Square	F	Sig.
Ι	Between Groups	21.126	4	5.282	4.040	.003
	Within Groups	804.009	615	1.307		
	Total	825.135	619			
II	Between Groups	46.334	4	11.583	11.732	.000
	Within Groups	603.277	611	.987		
	Total	649.610	615			
III	Between Groups	13.561	4	3.390	3.290	.011
	Within Groups	625.498	607	1.030		
	Total	639.059	611			
IV	Between Groups	22.361	4	5.590	5.081	.000
	Within Groups	648.077	589	1.100		
	Total	670.438	593			
V	Between Groups	18.762	4	4.690	5.879	.000
	Within Groups	461.923	579	.798		
	Total	480.685	583			
VI	Between Groups	13.368	4	3.342	4.677	.001
	Within Groups	406.618	569	.715		
	Total	419.986	573			
VII	Between Groups	41.331	4	10.333	10.083	.000
	Within Groups	546.178	533	1.025		
	Total	587.509	537			
VIII	Between Groups	8.444	3	2.815	4.267	.005
	Within Groups	317.943	482	.660		
	Total	326.387	485			
IX	Between Groups	6.701	3	2.234	2.669	.047
	Within Groups	301.255	360	.837		
	Total	307.956	363			

As per the given table, it was found that online marketing practices had a significant impact on choice in Web Portal Model, as the null hypothesis was rejected in all the above factors apart from Factor IX where significance value comes out to be .047, which is almost equal to .05. This factor was the search for a product online. Thus search for a product online has no significant relation to choice by consumers in Web Portal Model.

Thus in case of Web Portal Model, taking choice determinant, it was found out that choice of a customer is affected by various trends of online marketing practices. These practices of online marketing include

trends of online advertising, online targeted people, their buying behaviors, the difference in buying patterns of men and women, their attitudes and prior experience, security concerns, and brand metrics.

Information gathering and search for the desired product is one of the most basic use of the Web and often the first step in consumer decision making. It manifests itself in different ways for each of the products searched. Many of the choices searched are relevant to buyers but at the same time, it is a challenging task to sort through them. In case of Web Portal Model, when a consumer is searching for a product, he has to visit several different sites to explore more choice, since in Web Portal Model there are limited choices available at a single site and the thereby leading him to visit different Websites for discovering his desired product. Hence the choice becomes restricted at a single site. So, search for a product online is not a significant factor in case of Web Portal Model.

	-	Table 2 ANOVA (1.1.G	.)			
		Sum of Squares	Df	Mean Square	F	Sig.
Ι	Between Groups	39.204	4	9.801	7.688	.000
	Within Groups	776.405	609	1.275		
	Total	815.609	613			
II	Between Groups	14.704	4	3.676	3.526	.007
	Within Groups	630.804	605	1.043		
	Total	645.508	609			
III	Between Groups	3.866	4	.966	.929	.447
	Within Groups	625.335	601	1.040		
	Total	629.201	605			
IV	Between Groups	30.196	4	7.549	6.935	.000
	Within Groups	634.599	583	1.089		
	Total	664.796	587			
V	Between Groups	23.101	4	5.775	7.352	.000
	Within Groups	450.131	573	.786		
	Total	473.232	577			
VI	Between Groups	7.138	4	1.785	2.447	.045
	Within Groups	410.580	563	.729		
	Total	417.718	567			
VII	Between Groups	19.721	4	4.930	4.653	.001
	Within Groups	558.354	527	1.059		
	Total	578.075	531			
VIII	Between Groups	1.741	4	.435	.645	.631
	Within Groups	320.626	475	.675		
	Total	322.367	479			
IX	Between Groups	20.539	4	5.135	6.464	.000
	Within Groups	280.400	353	.794		
	Total	300.939	357			

H 2: It was hypothesized that various online marketing practices had no impact on choice determinant as per the Global Super Store Model.

As per the given table, it was found that online marketing practices had a significant impact on choice in Web Portal Model, apart from Factor III and Factor VII where significance value comes out to be 0.447 and 0.631 respectively, which is more than .05. These factors relates to consumer buying behavior and security. Thus security in online marketing has no relation to choice determinant in Global Super Store Model. Similarly, consumer buying behavior in online marketing has no relation on choice determinant in Global Super Store Model. Thus in case of Global Super Store Model, taking choice determinant, it was found out that choice of a customer is affected by various trends of online marketing practices. These practices of online marketing include trends of online advertising, online targeted people, the difference in buying patterns of men and women, their attitudes and prior experience, and brand metrics and search of product online

Security, as an online marketing practice has no impact on choice in the hypothesized Global Super Store Model, because, as stated earlier, the Global Super Store Model was found to deliver greater security assurance to those who buy online. Online trust is the basic and essential element for building a relationship with customers. The trustworthiness of online buying relies on how much privacy and security can be provided in online buying. This is duly looked for in Global Super Store Model. This, in turn was also related to consumer buying behavior as, greater the security, the lesser is the contrast the Global Super Store Model offers a wide palate of choice for different consumers with different consumer buying behavior which can all be assimilated in the Global Super Store Model. So, there is no significant impact of these two factors in case of Global Super Store Model.

Summary

As Web Portal Model is a model that already exists and functions, there were certain prominent limitations that were pointed out in analysis above.

Global Super Store Model, being a proposed model will offer advancement in this area and will be more adaptable in bringing about the changes and fulfilling the lacuna that exist in Web Portal Model.

Hence, it can be well concluded that the hypothesis stands accepted that impact of online marketing practices will be more on Global Super Store Model in comparison to Web Portal Model.

References

Ajzen, I. and Fishbein, M., "Understanding Attitude and Predicting Social Behavior." Prentice-Hall, Englewood Cliffs, NJ, 1980.

Alreck, P. and Settle, R. B., "Gender Effects on Internet, Catalogue and Store Shopping," Journal of Database Marketing Vol. 9, No. 2:150-162, 2002.

Brown, M., Pope, N. and Voges, K., "Buying or Browsing? An Exploration of Shopping Orientations and Online Purchase Intention," European Journal of Marketing Vol. 37, No. 11/12: 1666- 1685, 2003.

Chang, M. K., Cheung, W. and Lai, V. S., "Literature Derived Reference Models for the Adoption of Online Shopping," Information & Management Vol. 42, 543-559, 2005.

Citrin, A. V., Sprott, D. E., Silverman, S. N. and Stem Jr, D. E., "Adoption of Internet Shopping: the Role of Consumer Innovativeness," Industrial Management & Data Systems Vol. 100, No. 7: 294-301, 2000.

Devaraj, S., Fan, M. and Kohli, R., "Antecedents of B2C Channel Satisfaction and Preference: Validating E-Commerce Metrics," Information Systems Research Vol. 13, No. 3: 316-334, 2002.

Goldsmith, R. E., "Explaining and Predicting Consumer Intension to Purchase Over the Internet: An Exploratory Study," Journal of Marketing Theory and Practice Vol. 10, No. 2: 22-28, 2002.

Hoffman, D. L. and Novak, T. P., "Marketing in Hypermedia Computer Mediated Environments: Conceptual Foundations," Journal of Marketing Vol. 60, 50-68, 1996.

Huang, W. Y., Schrank, H. and Dubinsky, A. J., "Effect of Brand Name on Consumers' Risk Perceptions of Online Shopping," Journal of Consumer Behavior Vol. 4, No. 1: 40-50, 2004.

Huang S. A. and Christopher. D. (2003), 'Planning an effective Internet retail store', Marketing Intelligence and Planning 21: 4, 230-238.

Jarvenpaa, S. L. and Todd, P. A., "Consumer Reactions To Electronic Shopping on the World Wide Web," International Journal of Electronic Commerce Vol. 2, 59-88, 1997.

Johnson, E. J., Moe, W. W., Fader, P. S., Bellman, S. and Lohse, G. L., "On the Depth and Dynamics of Online Search Behavior," Management Science Vol. 50, No. 3: 299-309, 2004.

Joines, J., Scherer, C. and Scheufele, D., "Exploring Motivations for Consumer Web Use and Their Implications for E-Commerce," Journal of Consumer Marketing Vol. 20, No. 2: 90-109, 2003.

Kim, J. and Park, J. (2005), 'A consumer shopping channel extension model: attitude shift toward the online store', Journal of Fashion Marketing and Management 9: 1, 106-121.

Korgaonkar, P. K. and Wolin, L. D., "A Multivariate Analysis of Web Usage," Journal of Advertising Research Vol. 39, No. 2: 53-68, 1999.

Kotler, P. and Armstrong, G. (2007) Principles of Marketing, (12th edn), Upper Saddle River, Prentice Hall.

Liao, Z. and Cheung, M. T., "Internet-Based E-Shopping and Consumer Attitudes an Empirical Study," Information & Management Vol. 38, No. 5: 299-306, 2001.

Lynch, P. D., Kent, R. J. and Srinivasan, S. S., "The Global Internet Shopper: Evidence From Shopping Tasks in Twelve Countries," Journal of Advertising Research Vol. 41, No. 3: 15-23, 2001.

Mathwick, C. and Rigdon, E., "Play, Flow, and the Online Search Experience," Journal of Consumer Research

Vol. 31, 324-332, 2004.

Monsuwé, P. T., Dellaert, C. G. B. and Ruyter, K. (2004) 'What drives consumers to shop online? A literature review', International Journal of Service Industry Management 15: 1, 102 – 121.

Nysveen, H. and Pedersen, P., "An Exploratory Study of Customers' Perception of Company Web Sites offering Various Interactive Applications: Moderating Effects of Customers' Internet Experience," Decision Support Systems Vol. 37, No. 1: 137-150, 2004.

O'keefe, R. M., Cole, M., Chau, P. Y. K., Massey, A., Montoya-Weiss, M. and Perry, M., "From the User Interface to the Consumer Interface: Results from a Global Experiment," International Journal of Human-Computer Studies Vol. 53, No. 4: 611-628, 2000.

Park, H. C. and Kim, G. Y. (2003), 'Identifying key factors affecting consumer purchase behaviour in an online shopping context', International Journal of Retail and Distribution Management 31: 1, 16-29.

Rodgers, S. and Harris, M., "Gender and E-Commerce: An Exploratory Study," Journal of Advertising Research Vol. 43, No. 3: 322-330, 2003.

Ruyter, K., Wetzels, M. and Kleijnen, M., "Customer Adoption of EService: An Experimental Study," International Journal of Service Industry Management Vol. 12, No. 2: 184-208, 2001.

Shiv, B. and Fredorikhin, A., "Heart and Mind in Conflict: the Interplay of Affect and Cognition in Consumer Decision Making," Journal of Consumer Research Vol. 26, 278-292, 1999.

Slyke, C. V., Comunale, C. L. and Belanger, F., "Gender Differences in Perceptions of Web-Based Shopping," Communications of the ACM Vol. 45, No. 7: 82-86, 2002.

Smith, D. A. and Rupp, T.W. (2003) 'Strategic online customer decision making: leveraging the transformational power of the Internet', Online Information Review 27: 6, 418 – 432.

Stone, G. P., "City and Urban Identification: Observations on the Social Psychology of City Life", American Journal of Sociology Vol. 60, 36-45, 1954.

Susskind, A., "Electronic Commerce and World Wide Web Apprehensiveness: An Examination of Consumers' Perceptions of the World Wide Web," Journal of Computer-Mediated Communication, Vol. 9, No. 3, 2004.

Swaminathan, V., Lepkowska-White, E. and Rao, B. P., "Browsers or Buyers in Cyberspace? An Investigation of Factors Influencing Electronic Exchange," Journal of Computer-Mediated Communication, Vol. 5, No. 2, 1999.

William Zikmund, Barry Babin, Jon Carr - 2012 - Business & Economics, p. 315- 319. Wolfinbarger, M. and Gilly, M., "Shopping Online for Freedom, Control, and Fun," California Management Review Vol. 43, No. 2: 34-56, 2001.

Wu, S. (2003) 'The relationship between consumer characteristics and attitude toward online shopping', Marketing Intelligence and Planning, 21: 1, 37-44

Yang, B. and Lester, D., "Attitudes toward Buying Online," Cyber psychology & Behavior Vol. 7, No. 1: 85-92, 2004.

Zhou, L., Chiang, W. Y. and Zhang, D., "Discovering Rules for Predicting Customers' Attitude Toward Internet Retailers," Journal of Electronic Commerce Research Vol. 5, No. 4: 228-238, 2004.

The IISTE is a pioneer in the Open-Access hosting service and academic event management. The aim of the firm is Accelerating Global Knowledge Sharing.

More information about the firm can be found on the homepage: <u>http://www.iiste.org</u>

CALL FOR JOURNAL PAPERS

There are more than 30 peer-reviewed academic journals hosted under the hosting platform.

Prospective authors of journals can find the submission instruction on the following page: <u>http://www.iiste.org/journals/</u> All the journals articles are available online to the readers all over the world without financial, legal, or technical barriers other than those inseparable from gaining access to the internet itself. Paper version of the journals is also available upon request of readers and authors.

MORE RESOURCES

Book publication information: http://www.iiste.org/book/

Academic conference: http://www.iiste.org/conference/upcoming-conferences-call-for-paper/

IISTE Knowledge Sharing Partners

EBSCO, Index Copernicus, Ulrich's Periodicals Directory, JournalTOCS, PKP Open Archives Harvester, Bielefeld Academic Search Engine, Elektronische Zeitschriftenbibliothek EZB, Open J-Gate, OCLC WorldCat, Universe Digtial Library, NewJour, Google Scholar

